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AGNI SERIES TEST - 1 
 

1. nghUj;Jf  
A)capUf;F  - 1. Ch;  

b)tho;Tf;F  - 2. ths; 

C)mrjpf;F  - 3. Njd;  

D)ftpijf;F - 4. Neh;  

a)4 3 2 1   b)4 1 3 2   c)4 1 2 3   d)4 3 1 2  

 

2. tpisT vd;w nrhy;ypd; nghUs; ahJ? 
a),d;gk; jUjy;  b)Gfo;kpFe;J  c)tsh;r;rp   d)cWjpkpf;f  
 
3. fPo;f;fz;l $w;wpid Muha;f:  
1. ghujpjhrdpd; ,aw;ngah; fdf Rg;Guj;jpdk;  
2. jdpj; jkpioAk;;> jkpOzh;itAk; gug;gpa ghtyh; ghujpjhrd;  
3. ghujpjhrd;> Gul;rpf;ftp> ghNte;jh; vd;Wk; Nghw;Wth;  
a)$w;W 1> 2> 3 rhp b)$w;W 1> 2 rhp  c)$w;W 2> 3 rhp  d)$w;W 1> 3 rhp  
 
4. ghtyNuW ,aw;wpa E}y;fspy; nghUe;jhjJ vJ?  
a)fdpr;rhW   b)jkpo;epyk;   c)E}whrphpak;  d)ghtpaf;nfhj;J  
 
5. fPo;fhZk; $w;Wfis Muha;f:  
1. fdpr;rhW vd;w ,jopd; Mrphpah; ghtyNuW. 
2. fdpr;rhW VO njhFjpfisf; nfhz;lJ  
3. fdpr;rhW jkpOzh;T epiwe;j ghly;fisf; nfhz;lJ  
a)1> 3 rhp 2 jtW b)1> 2> 3 rhp  c)1> 2 rhp 3 jtW d)1> 2 jtW 3 rhp  
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6. “Njd; Njhd;wpaJ Nghy kf;fs; ehtpy;  
nre;jkpNo! eP Njhd;wp tsh;e;jha;! - ,e;j  
mbfspd; Mrphpah; ahh;?  
a)Gul;rpf;ftp  b)fhrp Mde;jd;  c)Jiukhzpf;fk;  d)ghtyh; kzp  
 
7. jkpopy; ekf;Ff; fpilj;Js;s kpfg;goikahd E}y; vJ?  
a)mfj;jpak;   b)njhy;fhg;gpak;  c)tPuNrhopak;    d),yf;fz tpsf;fk;  
 
8. nghUj;Jf  
nrhy;   Kjypy; ,lk;ngw;w ,yf;fpak;  
A)jkpod;  - 1. gjpw;Wg;gj;J  

B)jkpo;  - 2. ngUk;ghzhw;Wg;gil  

C)ghh;   - 3. Njthuk;  

D)nts;sk;  - 4. njhy;fhg;gpak;  

a)3 4 1 2   b)3 4 2 1   c)2 4 3 1   d)2 4 1 3  

 

9. gpd;tUtdtw;Ws; nghUe;jhj xd;iw Njh;e;njL?  
a)Jspg;gh   b)ftpij   c)nra;As;   d)Gjpdk;  
 
10. G+tpd; VO epiyfspy; Ie;jhk; epiy vd;d? 
a)nkhl;L   b)kyh;   c)myh;   d)Kif  
 
11. nghUj;Jf: (jhtu ,iyg;ngah;fs;) 
A)ehzy; - 1. $e;jy;  
B)jhio - 2. Njhif  
C)tuF - 3. kly;  
D)fKF - 4. jhs;  
a)4 3 2 1   b)2 3 4 1    c)2 4 3 1    d)4 2 3 1 
 
12. $w;wpid Muha;f  
1. ehlfj;jkpo; cs;sj;ij kfpo;tpf;Fk;  
2. ,irj;jkpo; cs;sj;ij kfpo;tpf;Fk;  
3. ,ay;jkpo; czh;tpy;fye;J tho;it ey;topg;gLj;Jk;  
a)$w;W 1> 2> 3 rhp     b)$w;W 1> 2 rhp   

c)$w;W 2 kl;Lk; rhp     d)$w;W 3 kl;Lk; rhp 
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13. re;jpg;gpioaw;w njhliuf; fhz;f:  
a)njhiytpy; cs;sg; nghUspd; cUtj;ij mUfpy; Njhd;w nra;a KbAk; 

b)njhiytpy; cs;sg; nghUspd; cUtj;ij mUfpy; Njhd;wr; nra;a KbAk;  

c)njhiytpy; cs;s nghUspd; cUtj;ij mUfpy; Njhd;w nra;a KbAk;  

d)njhiytpy; cs;s nghUspd; cUtj;ij mUfpy; Njhd;wr; nra;a KbAk;  
 
14. jpidasT Nghjhr; rpWGy;ePh; ePz;l  
gidasT fhl;Lk; - ,g;ghly; ,lk;ngw;w E}y; vJ?  
a)ew;wpid    b)GwehD}W   c)jpUts;Stkhiy d)fhh; ehw;gJ  
 
15. njhd;ik vd;w nrhy;ypd; nghUs; ahJ?  
a)GJik   b)goik   c)ngUik   d)rPh;ik  
 
16. ‘kh’ vd;Dk; nrhy;ypd; nghUspy; nghUe;jhJ vJ?  

a)moF   b)mwpT   c)msT   d)myF  
 
17. ‘Voice Search’ vd;w nrhy;ypy; jkpohf;fk; fhz;f?  

a)Fuy;Njly;  b)njhLjpiu   c)Gydk;   d)NjL nghwp  
 
18. ntz;Fil – gphpj;J vOJf  

a)ntz; + Fil  b)ntz;ik + Fil c)ntk; + Fil  d)ntk;ik + Fil  
 
19. nghUs; NtWghL mwpjy;: mop – msp  

a)fUiz> kyh;jy; b)kyh;jy;> ,uf;fk; c),uf;fk;> fUiz d)mopT> fUiz  
 
20. rpyg;gjpfhuk; ,aw;wg;gl;l fhyk; vg;NghJ?  
a)fp.gp. Kjyhk; E}w;whz;L    b)fp.gp. ,uz;lhk; E}w;whz;L  

c)fp.gp. %d;whk; E}w;whz;L    d)fp.gp. ehd;fhk; E}w;whz;L  
 
21. $w;wpid Muha;f:  
1. ghujpahhpd; ,aw;ngah; Rg;gpukzpad;  
2. ghujpahh; jdpj;jkpOf;fhfTk;> ngz; chpikf;fhfTk; ghLgl;lth;  
3. vl;laGuk; kd;duhy; ghujp vd;Dk; gl;lk; ngw;wth;  
a)$w;W 1> 2> 3 rhp b)$w;W 1 kl;Lk; rhp c)$w;W 1> 2 rhp  d)$w;W 2 kl;Lk; jtW  
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22. tyirapd; NghJ gwitapd; clypy; Vw;gLk; khw;wq;fs; gpd;tUtdtw;wpy; 
nghUe;jhjJ vJ?  
a)jiyapy; rpwF tsh;jy;     b),wFfspd; epwk; ntsph;jy;  

c)clypy; fw;iwahf Kb tsh;jy;   d)Nkw;fz;l vJTkd;W  
 
23. rpl;Lf;FUtpfs; vj;jid ehl;fs; milfhf;Fk;?  
a)12 ehl;fs;  b)15 ehl;fs;  c)13 ehl;fs;  d)14 ehl;fs;  
 
24. cyf rpl;Lf;FUtpfs; ehs; vg;NghJ?  
a)khh;r; - 20   b)gpg;uthp – 20  c)Nk – 20   d)Vg;uy; - 20  
 
25. cyfpNyNa neLe;njhiyT gazk; nra;Ak; gwit  
a)jg;gy; gwit      b)flw;nfhs;isg;gwit  

c)Mh;bf; MNyh      d)rpl;Lf;FUtp  
 
26. fpotDk; flYk; vd;Dk; Mq;fpyg; Gjpdk; ve;j Mz;L Nehgy; ghpR ngw;wJ?  
a)1952   b)1953   c)1954   d)1955 

 
27. jdf;F Kd; xU Fwpy; vOj;ijAk; jdf;Fg;gpd; xU ty;ypd caph;nka; vOj;ijAk; 
ngw;Wr; nrhy;ypd; ,ilapy; kl;LNk tUk; vOj;J?  
a)Ma;jk;       b)jdpepiy    

c)Kg;ghw;Gs;sp      d)Nkw;fz;l midj;Jk; rhp  
 
28. nraw;fhpa nra;thh; nghpah; rpwpah;  
nraw;fhpa nra;fyh jhh; - ,f;Fwl;gh  
,lk;ngw;Ws;s mjpfhuk; vd;d?  
a)ePj;jhh; ngUik  b)kf;fl;NgW   c),y;tho;f;if  d) ,dpait $wy; 
 
29. cauk; jhz;Lk; tPuh; khhpag;gd; ve;j Mz;L xyp;k;gpf;fpy; jq;fg;gjf;fk; ntd;whh;  
a)2012   b)2016   c)2020   d)2022  

 
30. nghUs; NtWghL mwpjy; - miyj;jhs; - mioj;jhs;  
a)Rw;Wjy;> $g;gpLjy;     b)$g;gpL> Rw;Wjy;  

c)miyg;G> $g;gpL     d)fly;miy> Rw;Wjy;  
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31. Gs; vd;w nrhy;ypd; nghUs; ahJ?  
a)jhtu tif   b)kiynaUf;F  c)NrhW   d)gwit  
 
32. nghUj;Jf (nghUs; mwpjy;) 
A)xsljk; - 1. cs;sk;  

B)rpj;jk; - 2. kUe;J  

C)nfhq;F - 3. mr;rk; jUk; fly;  

D)ehkePh; - 4. kfue;jk;  

a)2 1 3 4   b)1 2 3 4   c)2 1 4 3   d)2 3 4 1  

 
33. “njd;jpirf; Fkhp Mb tljpirf;F VFtPh;  

Mapd;” – vd;Dk; mbfis vOjpath; ahh;?  

a),sq;Nfhtbfs;  b)ghujpjhrd;   c)ghujpahh;      d)rj;jpKj;jg; Gyth;  
 
34. ney;iy R.Kj;Jit jk;ik xj;j miyePsj;jpy; rpe;jpg;gth; vd;W ghuhl;bath; ahh;?  
a)mg;Jy;fyhk;      b)rptd;    

c)kapy;rhkp mz;zhJiu    d)mUzd;  
 
35. Cf;fk; vd;w nrhy;ypd; vjph;nrhy; ahJ?  
a)cw;rhfk;   b)cah;T   c)Nrhh;T   d)njspT  
 
36. rhpahd Fwl;ghit Njh;e;njL  
a)gzpTilahd; Mjy; ,d;nrhy; xUtw;F  
mzpay;y kw;Wg; gpw  
b)gzpTilahd; ,d;nrhyd; xUtw;F Mjy;  
mzpay;y kw;Wg; gpw  
c)gzpTilahd; ,d;nrhyd; Mjy; xUtw;F  
mzpay;y kw;Wg; gpw 
d)gzpTilahd; xUtw;F ,d;nrhy; Mjy;  
mzpay;y kw;Wg; gpw 
 
37. re;jpu kz;lyj;jpay; fz;L njspNthk;  
re;jp njUg;ngUf;fk; rhj;jpuk; fw;Nghk;  
vd;w ghlypy; Mrphpah; ahh;?  
a)ghujpahh;    b)ghujpjhrd;   c)ftpkzp   d)ehkf;fy; ftpQh; 
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38. fhuy; fngf; ve;j Mz;L NuhNgh vd;w nrhy;iy gad;gLj;jpdhh;?  
a)1920   b)1930   c)1940   d)1950  

 
39. Sensors vd;w nrhy;ypd; jkpohf;fk; fhz;f  

a)kPj;jpwd; rpy;Yfs;     b)Ez;zwpTf; fUtpfs;  

c)nra;if Ez;zwpT     d)Ez;Zzh;Tf; fUtpfs;  
 
40. fPo;fz;l $w;wpid Muha;f  
1. cyfpNyNa Kjd;Kjyhf rTjp mNugpah xU NuhNghTf;F FbAhpik toq;fpAs;sJ  
2. GJikfspd; ntw;wpahsh; vd;W NuhNghTf;F If;fpa mnkhpf;f ehLfs; ngahpl;lJ  
a)$w;W 1> 2 rhp  b)$w;W 1 kl;Lk; rhp c)$w;W 2 kl;Lk; rhp d)$w;W 1> 2 jtW  
 
41. tpsf;Ffs; gy je;j xsp vd;w E}iy vOjpath; ahh;?  
a)ypypad; thl;rd; b)vh;d];l; n`kpq;Nfh c)vl;tpd; mh;dhy;l; d)ehh;kd; lhfy;  
 
42. Rje;jpu ,e;jpahtpd; ntw;wpfshf mg;Jy;fyhk; fUJtjpy; jtwhdJ vJ?  
a)czT cw;gj;jpapy; jd;dpiwT mile;Js;Nshk;  

b)mZ ciyfs; %yk; kpd;rhuk; jahhpg;gpy; gpd;dzpapy; cs;Nshk;  

c)etPd kUe;JfSk;> ghuk;ghpa kUj;Jt KiwfSk; tsh;r;rp ngw;Ws;sd 

d)Nkw;fz;l midj;Jk; rhp 
 
43. nkhop Kjy; vOj;Jfspy; nghUe;jhjij Njh;e;njL?  
a)q    b)A+    c)nQ    d)NQh 
 
44. nkhop ,Wjpahf vOj;Jfs; vJ?  
a)caph;nka; vOj;J  b)Q;    c)j;    d)e;  
 
45. fPo;f;fz;l $w;Wfis ftdp  
1. caph; vOj;Jfs; nrhy;ypd; ,ilapy; tUk;  
2. nka; vOj;Jfs; nrhy;ypd; ,ilapy; tUk;  
3. caph;nka; vOj;Jfs; nrhy;ypd; ,ilapy; tUk;  
a)1> 2> 3 rhp  b)1> 2 rhp   c)3 kl;Lk; rhp  d)2> 3 rhp  
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46. neL nts;s+rp neL trp gue;j tL  
,g;ghly; ,lk;ngw;w E}y; vJ?  
a)njhy;fhg;gpak;   b)gjpw;Wg;gj;J  c)fhh;ehw;gJ   d)ew;wpiz 
 
47. fjputdpd; kw;nwhU ngah; vd;d?  
a)Gjd;   b)QhapW   c)re;jpud;   d)nrt;tha;  
 
48. rpl;Lf;FUtp tho Kbahj gFjp vJ?  
a)JUtg;gFjp  b),kakiy  c),e;jpah   d)Mg;gphpf;fh 
 
49. md;gpd; --------------- caph;epiy m/jpyhh;f;F  
vd;GNjhy; Nghh;j;j clk;G – Fwl;ghtpid  
epiwT nra;f  
a)typaJ   b)tspaJ   c)topaJ   d)rpwpaJ  
 
50. fhh;gd; ,ioiaf;nfhz;L tbtikf;fg;gl;l nraw;if fhy;fspd; vil vt;tsT vd;W 
mg;Jy;fyhk; $wpdhh;?  
a)3 kg    b)0.3 kg   c)30 gram   d)300 mg  

 
51. Statement 1: The seats of each province were distributed among three main communities- 

Hindus, Muslims, and Christians. 

Statement 2: Provisional Legislative Assembly elected their representatives by proportional 
representation with a single transferable vote. 
a)1 correct,2 incorrect     b)1 incorrect, 2 correct 
c)Both correct      d)Both incorrect 
 
mwpf;if 1:xt;nthU khfhzj;jpw;Fk; ,e;J> K];ypk;> fpwp];jtk; Mfpa rKjhaq;fspd; 
kf;fs;njhif tpfpjj;jpw;Nfw;g ,lk; xJf;fg;gl;lJ. 
mwpf;if 2 :khfhzj;Jf;F cWg;gpdu;fs; - xw;iw khw;W thf;F mbg;gilapyhd 
tpfpjhr;rhug; gpujpepjpj;Jt Kiwapy; Nju;e;njLf;fg;gl;ldu;. 
a) 1 rup> 2 jtwhdJ     b)1 jtwhdJ> 2 rup 
c) ,uz;Lk; rup      d) ,uz;Lk; jtwhdJ 
 
52. How many members were present and signature to the Constitution as finally passed on 
26th November 1949? 
a) 274    b) 284   c) 289    d) 324 
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26.11.1949 md;W murikg;gpid  vj;jid cWg;gpdu;fs; fye;J nfhz;L ifnahg;gkpl;L  
epiwNtw;wpdu;? 
a) 274    b) 284   c) 289    d) 324 
 
53. Choose the correct answer: 
1. The Final meeting of the constitution assembly was held on 26th january 1950. 
2. Dr. Rajendra Prasad was the first Chairman of the constitution assembly. 
a)Both correct  b)1 correct   c)2 correct   d)None of these 
 
rupahd gjpiyj; Nju;e;njLf;fTk;: 
1. murpayikg;G Nguitapd; ,Wjpf; $l;lk; 26 [dtup 1950 md;W eilngw;wJ. 
2. lhf;lu; uhN[e;jpu gpurhj; murpayikg;G Nguitapd; Kjy; jiytuhf ,Ue;jhu;. 
a),uz;Lk; rup  b) 1 rup   c) 2 rup   d) vJTk; ,y;iy 
 
54. Who requested the Sachchidananda Sinha to take the Chair as temporary Chairman for 
Constitutional Assembly? 
a) Acharya J. B. Kripalani     b) Alladi Krishnaswamy Ayyar 
c) S.N. Mukherjee      d) N. Madhava Rao 
 
murpayikg;Gr; rl;lg; Nguitapd; jw;fhypfj; jiytuhf rr;rpjhde;j rpd;`hitj; 
jiyik Vw;ff; NfhupaJ ahu;? 
a) Mr;rhu;ah N[.gp.fpUghyhdp   b) Myb fpU\;zRthkp Iau; 
c) v];.vd;. Kfu;[p     d) vd;. khjt uht; 
 
55. Choose the salient features of Indian Constitution: 
a) It is the lengthiest of all the written constitutions of the world. 
b) It has borrowed most of its provisions from the constitutions of various countries. 
c) It establishes a federal system of government. 
d) All of the above 
 
,e;jpa murpayikg;Gr; rl;lj;jpd; rpwg;Gf; $Wfs; Nju;e;njLf;fTk;: 
a) cyfpYs;s vOjg;gl;l> midj;J murpayikg;Gfis tplTk; kpfTk; ePskhdJ. 
b) ,jd; ngUk;ghyhd fUj;Jfs; gy;NtW ehLfspd; murpayikg;GfspypUe;J 
ngwg;gl;lit. 
c) $l;lhl;rp Kiw murhq;fj;ij Vw;gLj;JfpwJ. 
d) NkNy cs;s midj;Jk; 
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56. Which of the following is non – justiciable in nature in Indian Constitution? 
a)Equality of law and equal protection of law 
b)Protection with respect to conviction of offences 
c)Equal justice and free legal aid 
d)Freedom to manage religious affairs 
e)Answer not known 
 
gpd;tUtdtw;wpy; vJ ,e;jpa murpayikg;gpy; tof;fpay;gw;wJ? 
a)rl;lj;jpd; rkj;Jtk; kw;Wk; rl;lj;jpd; rk ghJfhg;G 
b)Fw;wq;fs; njhlh;ghd jz;lid njhlh;ghd ghJfhg;G 
c)rkkhd ePjp kw;Wk; ,ytr rl;l cjtp 
d)kj tptfhuq;fis eph;tfpf;Fk; Rje;jpuk; 
e)tpil njhpatpy;iy 
 
57. “Suspension of Fundamental Rights during Emergency”were adopted from which of the 
following constitution. 
a) Germany   b) Australia   c) Canada   d) South Africa 
 
“neUf;fbepiy fhyj;jpy; mbg;gil cupikfs; gwpg;G” ve;j ehl;bd; murpayikg;gpd; 
,Ue;J ngwg;gl;lJ? 
a) n[u;kdp   b) M];jpNuypah  c) fdlh   d) njd;dhg;gpupf;fh 
 
58. Choose the correct answer about sources borrowed from Canadian Constitution: 
1. The appointment of State Governors by the centre 
2. Advisory jurisdiction of the Supreme Court. 
a) Both correct  b) 1 correct   c) 2 correct   d) None of these  
 
fdlh murpayikg;gpypUe;J ngwg;gl;l rupahd Mjhuq;fis Nju;e;njLf;fTk;: 
1. kj;jpa murhy; khepy MSeu; epakdk; nra;tJ 
2. cr;rePjpkd;wj;jpd; mwpTiu mjpfhu tuk;G 
a) ,uz;Lk; rup  b) 1 rup   c) 2 rup   d) vJTk; ,y;iy 
 
59. Which of the following sources were not borrowed from The Government of India Act, 
1935? 
a) Federal provisions     b) Office of Governor 
c) Judiciary       d) Independence of Judiciary 
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gpd;tUk; Mjhuq;fspy; vJ ,e;jpa muR rl;lk;> 1935 ,ypUe;J vLf;fg;gltpy;iy? 
a) $l;lhl;rp tpjpfs;     b) MSeu; gjtp 
c) ePjpj;Jiw      d) Rje;jpukhd ePjpj;Jiw 
 
60. “Federation with a strong centre” this sources is borrowed from which of the following 
country? 
a) Canada   b) Australia   c) South Africa  d) France 
 
”xU tYthd kj;jpa muRld; $ba $l;lhl;rp”> ve;j ehl;bd; murpayikg;gpy; ,Ue;J 
vLf;fg;gl;lJ? 
a) fdlh   b) M];jpNuypah  c) njd; Mg;gpupf;fh d) gpuhd;R 
 
61. Choose the correct answer: 
1. Preamble has been described as the ‘key to the Constitution’. 
2. Its aim is to secure to all Indian citizens Social, economic and political justice. 
a) 1 correct   b) 2 correct   c) Both correct  d) None of these 
 
rupahd gjpiyj; Nju;e;njLf;fTk;: 
1. KfTiu- ngUk; kjpg;Gld; “murpayikg;gpd; jpwTNfhy;" vd Fwpg;gplg;gLfpwJ. 
2. ,e;jpa Fbkf;fs; midtUf;Fk; r%f> nghUshjhu> murpay; ePjp vd midj;jpYk; 
ghJfhg;G toq;FtNj ,jd; Nehf;fkhFk;. 
a) 1 rup   b) 2 rup   c) ,uz;Lk; rup  d) vJTk; ,y;iy 
 
62. In which year Liberty, Equality and Fraternity were the important slogans during the French 
Revolution? 
a)1789   b)1791   c)1794   d)1797 
 
ve;j Mz;L gpnuQ;R Gul;rpapd; NghJ Rje;jpuk;> rkj;Jtk;> rNfhjuj;Jtk; Mfpad 
Kf;fpa Kof;fq;fshapd? 
a)1789   b)1791   c)1794   d)1797 
 
63. Arrange the following words according to Preamble: 
a) Equality, Fraternity, Unity and Integrity   
b) Fraternity, Equality, Unity and Integrity 
c) Unity, Integrity, Equality and Fraternity   
d) Integrity, Equality, Unity and Fraternity 
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Kd;Diuapd;gb gpd;tUk; thu;j;ijfis tupirg;gLj;jTk;: 
a) rkj;Jtk;> rNfhjuj;Jtk;> xw;Wik kw;Wk; xUikg;ghL 
b) rNfhjuj;Jtk;> rkj;Jtk;> xw;Wik kw;Wk; xUikg;ghL 
c) xw;Wik> xUikg;ghL> rkj;Jtk; kw;Wk; rNfhjuj;Jtk; 
d) xUikg;ghL> rkj;Jtk;> xw;Wik kw;Wk; rNfhjuj;Jtk; 
 
64. Choose the correct pair: 
1. Democracy - people govern India through their representatives elected by the universal adult 
franchise. 
2. Sovereign - it manages its internal and external affairs freely without the interference of any 
external factors. 
a) Both correct  b) 1 correct   c) 2 correct   d) None of these 
 
rupahd N[hbiaj; Nju;e;njLf;fTk;: 
1. kf;fshl;rp> - taJ te;j midtUf;Fk; thf;Fupik toq;fg;gl;L> Nju;e;njLf;fg;gLk; 
kf;fs; gpujpepjpfs; %yk; kf;fNs ,e;jpahit Ms;fpwhu;fs;. 
2. ,iwahz;ik - jdJ cs;ehl;L> ntspehl;L tptfhuq;fis ve;jtpjkhd ntsp 
ehl;bd; jiyaPL ,d;wp epu;tfpg;gjhFk;. 
a) ,uz;Lk; rup  b) 1 rup   c) 2 rup   d) vJTk; ,y;iy 
 
65. The Citizenship Amendment Bill, 2015 was introduced in Lok Sabha on 
a) 27th February, 2015     b) 22nd  April, 2015 
c) 21st March, 2015     d) 18th February, 2015 
 
FbAupik jpUj;j kNrhjh 2015 kf;fsitapy; vg;NghJ mwpKfg;gLj;jg;gl;lJ? 
a) gpg;utup 27> 2015     b) Vg;uy; 22> 2015 
c) 21 khu;r;> 2015      d) gpg;utup 18> 2015 
 
66. Choose the correct statement 
1. Fundamental rights provided in the constitution are not judicially enforceable . 
2. The individual can move the judiciary, if there is a violation on any of these rights. 
a) Both 1 and 2  b) 1 correct   c) 2 correct   d) None of these 
 
rupahd mwpf;ifiaj; Nju;e;njLf;fTk 
1. ,e;jpa murikg;G toq;fpAs;s mbg;gil cupikfs; ePjpkd;wj;jhy; 
epiyehl;lg;gLgit MFk;. 
2. xU egu; jkJ mbg;gil cupikfs; kPwg;gl;Ls;sjhff; fUJthuhdhy; ePjpkd;wj;jpid 
ehb epthuzk; mila KbAk;. 
a) 1 kw;Wk; 2 ,uz;Lk; b) 1 rup   c) 2 rup   d) vJTk; ,y;iy 
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67. Which writs quashes an order issued by a subordinate court by overstepping its jurisdiction? 
a) Certiorari   b) Quo Warranto  c) Prohibition  d) Mandamus 
 
ve;j ePjp Nguhizapd;gb>cau;ePjpkd;wk;> Mtzq;fis epahakhd guprPyidf;F jdf;Nfh 
my;yJ cupa mjpfhupf;Nfh mDg;gr; nra;a fPo;ePjpkd;wq;fSf;F ,Lk; Miz MFk;? 
a) Mtzf; Nfl;G Nguhiz     
b) jFjpKiw tpdTk; ePjpg;Nguhiz 
c) jilAWj;Jk; ePjpg;Nguhiz    
d) fl;lisAWj;Jk; ePjpg;Nguhiz 
 
68. ASSERTION: Fundamental rights in India are  absolute and rational restrictions can be 
imposed keeping in view of the security requirements of the state. 
REASON: It ensures political justice for the people. 
a) Both A and R are correct and R is the correct explanation of A. 
b) Both A and R are correct but R is not the correct explanation of A. 
c) A is correct but R is not correct. 
d) A is not correct but R is correct. 
 
$w;W: ,e;jpahtpy; mbg;gil cupikfs; KOikahdit my;y.kf;fSf;fhd murpay; 
ePjpia mJ cWjpg;gLj;JfpwJ.  
fhuzk;: ehl;bd; ghJfhg;G Njitiaf; fUj;jpy; nfhz;L cfe;j jilfs; 
tpjpf;fg;glyhk;. 
a) A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk;. 
b) A kw;Wk; R ,uz;Lk; rupahdit Mdhy; R vd;gJ A ,d; rupahd tpsf;fk; my;y. 
c) A rup Mdhy; R rupapy;iy. 
d) A rupapy;iy Mdhy; R rupjhd;. 
 
69. Choose the correct answer: 
1. The Directive Principles of State Policy are enumerated in Part IVA of the Constitution. 
2. The Constitution does not contain any classification of Directive Principles. 
a)Both correct  b)1 correct   c)2 correct   d)None of these 
 
muR newpKiwAWj;Jk; Nfhl;ghLfs;> ,e;jpa murpayikg;Gr; rl;lk; gFjp IV 
jug;gl;Ls;sJ. 
2.murpayikg;Gr;rl;lk;> topfhl;Lk; newpKiwfSf;fhfj; jdpahf tifghl;bidAk; 
nfhz;bUf;ftpy;iy. 
a) ,uz;Lk;rup  b) 1 rup   c) 2 rup  d) vJTk; ,y;iy 
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70. The 86th Amendment Act of 2002 changed  the subject -matter of ----------------- 
a) Article 45   b) Article 46   c) Article 47   d) Article 48 
 
2002 Mk; Mz;L Nkw;nfhs;sg;gl;l> 86tJ murpayikg;Gr; rl;lj; jpUj;jj;jpd;gb> ,e;jpa 
murpayikg;gpd; ------ jpUj;jg;gl;lJ 
a) gpupT45   b) gpupT46   c) gpupT47   d) gpupT48 

 
71. Choose the correct answer about Article 39: 
a) Right to adequate means of livelihood for all citizens 
b) Equal pay for equal work for men and women 
c) Opportunities for the healthy development of children 
d) All of the above. 
 
gpupT 39 gw;wpa rupahd gjpiyj; Nju;T nra;aTk;: 
a) midj;J Fbkf;fSf;Fk; NghJkhd tho;thjhuj;jpw;fhd cupik 
b) Mz;fSf;Fk; ngz;fSf;Fk; rk Ntiyf;F rkCjpak; 
c) Foe;ijfspd; MNuhf;fpakhd tsu;r;rpf;fhd tha;g;Gfs; 
d) NkNy cs;s midj;Jk;. 
 
72. Choose the correct answer: 
1. Article 42 - Make provision for just and humane conditions of work and maternity relief 
2. Article 43 -Secure a living wage, a decent standard of living and social and cultural 
opportunities for all workers. 
a) Both correct  b) 1 correct   c) 2 correct   d) None of these 
 
rupahd gjpiyj; Nju;e;njLf;fTk;: 
1. gpupT 42 - Ntiy kw;Wk; kfg;NgW epthuzj;jpw;fhd epahakhd kw;Wk; kdpjhgpkhd 
epiyikfis toq;Fjy; 
2. gpupT 43 - midj;J njhopyhsu;fSf;F Cjpak;> xOf;fkhd tho;f;ifj;juk; kw;Wk; 
r%f kw;Wk; fyhr;rhu tha;g;Gfisg;    ghJfhj;jy;. 
a) ,uz;Lk; rup  b) 1 rup   c) 2 rup   d) vJTk; ,y;iy 

 
73. Which article deals with “Prohibit the consumption of intoxicating drinks and drugs which 
are injurious to health”? 
a) Article 48A  b) Article 46   c) Article 47   d) Article 49 
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cly; eyj;jpw;F NfLtpistpf;Fk; kJghdq;fs; kw;Wk; NghijkUe;Jfis 
cl;nfhs;tij jilnra;Ak; rl;lg;gpupT vJ? 
a) gpupT 45   b) gpupT 46   c) gpupT 47   d) gpupT 49 
 
74. Which article” Promote international peace and security and maintain just and honourable 
relations between nations”? 
a) Article 50   b) Article 51   c) Article 53   d) Article 54 
 
ru;tNjr mikjp kw;Wk; ghJfhg;ig Cf;Ftpj;jy; kw;Wk; ehLfSf;fpilNa cwTfisg; 
NgZjy; gw;wp $Wk; rl;lg;gpupT vJ? 
a) gpupT 50   b) gpupT 52   c) gpupT 53   d) gpupT 54 

 
75. ASEERTION: The President cannot be a Member of Parliament or a State Legislature. 
REASON: If he is a member of any legislature, his seat will be deemed to have been vacated on 
the date he assumes the office of President. 
a)Both A and R are correct and R is the correct explanation of A. 
b) Both A and R are correct but R is not the correct explanation of A. 
c) A is correct but R is not correct. 
d) A is not correct but R is correct. 
 
$w;W: FbauRj; jiytu; ghuhSkd;w cWg;gpduhfNth my;yJ rl;lkd;w 
cWg;gpduhfNth gjtp tfpf;ff; $lhJ. 
fhuzk;: xUNtis gjtp tfpf;Fk; gl;rj;jpy; FbauRj; jiytuhf mtu; gjtp Vw;Fk; 
ehspy; mg;gjtp fhypahdjhff; fUjg;gLk;. 
a) A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk;. 
b) A kw;Wk; R ,uz;Lk; rupahdit Mdhy; R vd;gJ A ,d; rupahd tpsf;fk; my;y. 
c) A rup Mdhy; R rupapy;iy. 
d) A rupapy;iy Mdhy; R rupjhd;. 
 
76. Which of the following is the correct order of words included in the preamble of Indian 
constitution? 
1. Justice   2.Fraternity   3.Equality   4.Liberty 
Select the correct answer using the code given below 
a)3142   b)3214   c)1432   d)1342 
 
gpd;tUtdtw;Ws; ,e;jpa murpayikg;gpd; KfTiuapy; Nrh;f;fg;gl;Ls;s rhpahd thpir 
vJ? 
1. ePjp    2. rNfhjuj;Jtk;  3. rkj;Jtk;  4. Rje;jpuk; 
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a)3142   b)3214   c)1432   d)1342 
 
77. Which Constitution Amendment Act substituted the category of union territory in place of 
part C states in the Constitution? 
a)1st Amendment Act     b)5th Amendment Act 
c)7th Amendment Act     d)8th Amendment Act 
 
ve;j murpayikg;G jpUj;jr;rl;lk; murpayikg;gpy; cs;s gFjp C khepyq;fSf;F 
gjpyhf a+dpad; gpuNjrq;fspd; tifia khw;wpaJ  
a)1tJ jpUj;jr;rl;lk;     b)51tJ jpUj;jr;rl;lk; 
c)71tJ jpUj;jr;rl;lk;     d)81tJ jpUj;jr;rl;lk; 
 
78. Need for a Constitution for free India was firt suggested by? 
a)Motilal Nehru  b)S.C.Bose   c)M.N.Roy   d)M.Gandhi 
 
Rje;jpu ,e;jpahtpw;F Xh; murikg;Gr; rl;lk; Ntz;Lk; vd Kjypy; ghpe;Jiue;jth;? 
a) Nkhjpyhy; NeU  b)S.C.Ngh];   c)M.N.uha;    d)M.fhe;jp 
 
79. Which article deals with prohibition of discrimination on grounds of religion, race, caste, sex 
or place of birth? 
a)Art 14   b)Art 15   c)Art16   d)Art 17 
 
kjk;, ,dk;, rhjp, ghypdk; my;yygpwe;j ,lk; Mfpatw;wpd; rhh;ig jil nra;Ak; rl;lg; 
gphpT vJ? 
a) ruj;J 14  b) ruj;J 15  c) ruj;J 16  d) ruj;J 17 
 
80. Which of the following deals with charter Act 1833? 
a)Decentralization of the legislative powers of Governor general 
b)Appointments of Board of control of six members 
c)Depriviation of East Indies Comganis monopoly of Trade in India 
d)Governor General’s Government was known as Government of India for the first time 
 
rhrdr;rl;lk; 1833 d;gb gpd;tUtdtw;Ws; vJ rhp? 
a)fth;dh; n[duypd; rl;lkpaw;Wk; mjpfhuq;fis mjpfhug; gutyhf;fk; nra;jy; 
b)MW cWg;gpdh;fisf; nfhz;l fl;Lg;ghl;L thhpak; epakpf;fg;gLjy; 
c),e;jpahtpy; fpof;fpe;jpaf; fk;ngdpapd; th;j;jf Kw;Wepiyiaf; Fiwj;jy; 
d)Kjd;Kiwahf fth;dh; n[duypd; murhq;fk; ,e;jpa murhq;f; vd miof;fg;gl;lJ 
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81. Which fundamental right was deleted by the 44th constitutional Amendment? 
a)Rigt to equality  b)Right to freedom c)Rigt to property  d)Right to religion 
 
44k; murpayikg;G rl;lj;jpUj;jj;jpd; %yk; ePf;fg;gl;l mbg;gil chpik? 
a) rkj;Jtj;jpw;fhd cupik     b) Rje;jpuj;jpw;fhd cupik  
c) nrhj;Jupik       d) kj cupik 
 
82. The Writ of mandames means 
a)To have the body of     b)To forbid 
c)To certify       d)We command 
 
Nkz;lk]; ePjpg;Nguhiz vd;gjd; nghUs; ahJ? 
a)Ml;nfhzh;T  b)jil nra;jy;  c)rhd;wypj;jy;  d)MizapLjy; 
 
83. Consider the following 
1. Prem Behari Narain Raizoda was the calligrapher of the Indian constitution 
2. The original constitution was hand written by Greek style 
3. Liberty, Equality, Fraternity was the important slogans during the French revolution in 1879 
a)1,2,3 are true  b)1 only true  c)2 only true   d)1,3 only true 
 
$w;wpid Muha;f 
1. gpNuk; ng`hhp eNud; iu[lh vd;gtuhy; ,e;jpa murpayikg;G rl;lk; 
2. ,e;jpa murpayikg;G rl;lk; mtuJ ifg;gl fpNuf;f guzpapy; vOjg;gl;lJ 
3. 1879 k; Mz;L gpnuQ;R Gul;rpapd NghJ Rje;jpuk;, rkj;Jtk;, rNfhjuj;Jtk; Mfpad 
Kf;fpa Kof;fq;fshapd 
a)1,2,3 rhp   b)1 rhp   c)2 rhp   d)1,3 rhp 
 
84. Fundamental Duties are borrowed from which constitution? 
a)America   b)Canada   c)Russia   d)Irish 
 
ekJ mbg;gil flikfis ve;j ehl;blkpUe;J ngw;Nwhk;? 
a)mnkupf;fh   b)fdlh    c)u\;ah    d),hp\;  
  
85. In which Article states that protection of language, script and culture of minorities? 
a)Art 29   b)Art 30   c)Art 27   d)Art 26 
 
ve;j ruj;J rpWghz;ikapdhpd; vOj;J, nkhop, kw;Wk; fyh;rhug; ghJfhg;Gf;F 
toptFf;fpwJ? 
a)ruj;J 29   b) ruj;J 30  c) ruj;J 27  d) ruj;J 26 
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86. The Assembly session, How many amendments were presented 
a)2471   b)2472   c)2473   d)2474 
 
murpayikg;G eph;darigapd; $l;Lj;njhlhpy; vj;jid jpUj;jq;fs; Kd;itf;fg;gl;ld 
a)2471   b)2472   c)2473   d)2474 
 
87. Which year ‘Burma was separated from India? 
a)1892   b)1909   c)1919   d)1935 
 
ve;j rl;lj;jpd; gb gh;kh ,e;jpahtpypUe;J gphpf;fg;gl;lJ? 
a)1892   b)1909   c)1919   d)1935 
 
88. In which schedule of the constitution prorisions relating to the administration of tribal areas 
in the states of Assam, Megalaya, Tripura and Mizoram. 
a)5th    b)6th    c)7th    d)8th 
 
gpd;tUk; ve;j murpayikg;G ml;ltiz m];]hk;> Nkfhyah> jphpGuh kw;Wk; kpNrhuk; 
Mfpa khepyq;fspy; cs;s goq;Fbapdg; gFjpfspd; eph;thfk; njhlh;ghd tpjpfis 
$WfpwJ? 
a)5th    b)6th    c)7th    d)8th 
 
89. Public Service Commission features are borrowed from which of the constitution? 
a)Government of India Act 1935 
b)British 
c)USA 
d)Canada 
 
nghJj; Njh;thizaq;fs; gw;wpa Fwpg;Gfs; ve;j ehl;L murpayikg;gpypUe;J 
vLf;fg;gl;lJ? 
a),e;jpa muRr; rl;lk; 1935 
b)gphpl;b\; 
c)mnkhpf;fh 
d)fdlh 
 
90. Consider the following : 
1. Art – 2 deals with parliament can admit a new state. 
2. Art – 3 deals with parliament can empower diminish the area of any state. 
3. Art – 3 deals with parliament can establish a new state. 
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a)1,2,3 are true  b)1,2, are true  c)1,3 are true  d)2,3 are true 
 
fPo;f;fz;ltw;iw ftdp : - 
1. tpjp - 2d;gb ghuhSkd;wk; xU Gjpa khepyj;ij mDkjpf;fyhk;. 
2. tpjp – 3d; gb ghuhSkd;wk; VNjDk; xU khepyj;jpd; gug;ig Fiwf;fyhk;. 
3. tpjp – 3d; gb ghuhSkd;wk; VNjDk; xU khepyj;ij cUthf;fyhk;. 
a)1>2>3 rhp   b)1>2 rhp   c)1>3 rhp   d)2>3 rhp 
 
91. Which article says that person who is citizen of India continue to be such citizen subject to 
provision of law made by parliament 
a)Art 10   b)Art – 11   c)Art – 9   d)Art – 8 
 
ve;j tpjp ,e;jpa Fbkfdhf ,Uf;Fk; xU eghpd; FbAhpikapd; njhlh;r;rpia mg;NghJ 
ghuhSkd;wj;jhy; ,aw;wg;gLk; fl;lf;$Wfs; jPh;khdpf;Fk;? 
a)tpjp 10   b)tpjp 11   c)tpjp 9   d)tpjp 8 
 
92. Which article provides the doctrine of Judicial Review? 
a)Art – 32   b)Art 31   c)Art 13   d)Art 32A 
 
fPo;f;fhZk; ve;j tpjp ePjp kWMa;T Nfhl;ghl;il toq;FfpwJ? 
a)tpjp 32   b)tpjp 31   c)tpjp 13   d)32A 
 
93. Which one of the following is wrong according to Art – 18? 
a)Prohibit accepting title from any foreign state. 
b)Prohibit state to centre any title 
c)Raj Bahadur, Dewan Bahadur were accepted by supreme court. 
d)All are correct 
 
tpjp-18d; gb gpd;tUtdtw;Ws; jtwhdJ vJ? 
a)ntspehLfs; toq;Fk; gl;lq;fisg; ngwj; jil 
b)murhq;fk; uhZt fy;tpg;gl;lq;fs; jtpu gpwtw;iw toq;fpl jil 
c)uh[; gfJ}h;> jpthd; gfJ}h; gl;lq;fs; cr;rePjpkd;wk; %yk; Vw;fg;gl;lJ. 
d)midj;Jk; rhp  
 
94. Which article denotes no citizen shell be denied admission into educational enstitution 
maintained by state (or) receiving aid from state on grounds of religion, race, caste/language 
a)Art – 15 (2)  b)Art 16 (2)   c)Art 29 (1)   d)Art 29 (2) 
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ve;j tpjp muR kw;Wk; muR cjtp ngWk; fy;tp epWtdq;fspy; kjk;> ,dk;> rhjp 
my;yJ nkhop mbg;gbilapy; Nrh;f;if ve;egUf;Fk; kWf;fg;glf;$lhJ. 
a)tpjp 15 (2)  b)tpjp 16 (2)  c)tpjp 29 (1)  d)tpjp 29 (2) 
 
95. Which article denotes to protect improve the environment? 
a)Art 48   b)Art 39 A   c)Art 48 A   d)Art 47 
 
ve;j tpjp Rw;Wr;#oiy ghJfhj;J Nkk;gLj;Jjiy Fwpg;gpLfpwJ? 
a)tpjp 48    b)tpjp 39 A   c)tpjp 48 A   d)tpjp 47 
 
96. From which of the following constitutional Amendments Education was transfered from 
State list to concurrent list? 
a)24th Amendment Act     b)25th Amendment  Act  
c)42nd Amendment Act     d)44 Amendment Act 
 
fPo;f;fhZk; ve;j murpayikg;Gj; jpUj;jr; rl;lj;jpd; %yk; fy;tp vd;gJ khepyg; 
gl;baypy; ,Ue;J nghJg;gl;baYf;F khw;wg;gl;lJ? 
a)24th Amendment Act     b)25th Amendment  Act  
c)42nd Amendment Act     d)44 Amendment Act 
 
97. Consider the following statement: 
Assertion (A) : The adoption of Uniform Civil Code though mentioned in the constitution of India 
is yet to be accomplished. 
Reason (R) : Directive principles are non-Justiciable. 
a)Both A and R are true and R is the correct explanation of A. 
b)Both A and R are true and R is not the correct explanation of A. 
c)A is true, but R is false. 
d)A is false, but R is true. 
 
$w;W : ,e;jpa murpayikg;gpd; nghJ rptpy; rl;lk; epiwNtw;wg;gl cs;sJ. 
fhuzk; : topfhl;L newpKiw Nfhl;ghlhdJ ePjpj;Jiwf;F mg;ghw;gl;lJ. 
a)A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A f;fhd rupahd tpsf;fk;. 
b)A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A f;fhd rupahd tpsf;fk; my;y. 
c)$w;W rup Mdhy; fhuzk; jtW 
d)A jtW Mdhy; R rup  
 
 
 
 



 

20 
 

98. The Indian Constituent assembly debate was held between 
a)9 August 1946 – 24 January 1950 
b)10 December 1945 – 10 March 1950 
c)9 December 1946 – 24 January 1950 
d)15 August 1945 – 10 March 1950 
 
,e;jpa murikg;G eph;zar; rig eilngw;w fhyk;? 
a)9 Mf];l; 1946 – 24 [dthp 1950 
b)10 brk;gh; 1945 – 10 khh;r; 1950 
c)9 brk;gh; 1946 – 24 [dthp 1950 
d)15 Mf];l; 1945 – 10 khh;r; 1950 
 
99. Who was the Vice Chairman of constituent assembly? 
a)Rajendra Prasad  b)H.C. Mukherji  c)Tej Bahadur Sapru d)Kewal Krishna 
 
murpayikg;gpd; eph;za rigapd; Jizj;jiyth; ahh;? 
a)uhN[e;jpu gpurhj;     b)H.C. Kfh;[p 
c)Nj[; gfJ}h; rg;GU     d)Nfty; fpUz\;zh 
 
100. Assertion (A) : The 42nd constitution amendment has been refered to as the ‘mini 
constitution’. 
Reason (R) : It was the bulkiest and most comprehensive amendment 
a)Both A and R are true and R is the correct explanation of A. 
b)Both A and R are true and R is not the correct explanation of A. 
c)A is true but R is false 
d)A is false but R is true. 
 
$w;W : 42tJ murikg;Gj; jpUj;jr; rl;lk; xU FW murikg;G vd;W Fwpg;gplg;gLfpwJ. 
fhuzk; : mjpfkhd tpjpfisf; nfhz;L xUq;fpizf;fg;gl;l jpUj;jr;rl;lk;. 
a)A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A f;fhd rupahd tpsf;fk;. 
b)A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A f;fhd rupahd tpsf;fk; my;y. 
c)$w;W rup Mdhy; fhuzk; jtW 
d)A jtW Mdhy; R rup 
 
 
 


